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Que.1
(a) Write any five rules determinant rufes of it. (5)
(b ) Solve following equations by Cremer’s rule (5)
3x+4y =3 ; 9x+6y=6

(c) If A= { 0,2}, B={ 0,3} and €={0,3,4 } is given than find (5)
1. AUB 2.AnB 3.AXB

O.R
(a) Explain with one illustration: (5)

Null set, Universal set and Complement of a set. :

(b) If U={1,2,3,4,5,6,7,8,9,10}, A= { 1,3,4.6,8 } and B={ 2,3,6,7,8 } (5)
given than verify (A n By=A’'UB’.
(c ) Solve following equations by Cremer's rule N )]

3x *+ 4y = 6xXy , 5y + 2x = 5xy

‘Que.2
(a) Explain with one illustration: Square matrix , Identity matrix {5)
and Equal matrix _ '
(b) Solve the following equations using matrix method. {5)
5x-12y=--4 ; =x +6y +1= 0
3 =2 o 32 1
(c)IfA=|-4 1| &B= =| ] Find 2A - 3B' and AxB. (5)
5 2 0 2 -
Find 2A-3B and AxB
L : O.R
2 3 -11 ' : '
(a)lf A= '[3 2 1| -than find inverse of A. o (5)
11 -5 3 __ o
() If A=[i 3] , verify A (adj A) = |4] Iz, where Iz Is identity (5)
Matrix of order 2x2 B page-'l
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(c) if A-[1 i than find A2-5A - 21, where | is identity matrix of (5)
order 2x2
Que.3
(a) Define limit & write rules of it. ‘ (5)
(b)Evaluate the following: Any two (10)
X241 xP4x—6 . x+3 ~2
1. !}_‘,‘3‘ Brixts 2, ,l-:l-l}zl *-5x46 3. Llllil x-1
O.R
. Evaluate the following: Any three | ' (15)
. Bx%-2x-1 | . 1 2
1 i 1 8x2 - 6x+1 2. Ll_l)[zl L P xz—Zx]
. 1 . x5-243
| 1 + . { ]
3 !rl—?l} 1 1+% 4 Erl—l»}’al' x3-27
Que.4
(a) Explain: Simple interest, Compound interest and Sinking fund (5)

(b) Calculate simple interest and am‘punt on Rs. 50000 at the rate (5)
of 8% for 5 years. :

(c)The population of a city is 76162 at present. Before five years (5)
the population of the city was 65673.Find the rate of growth of the
population of the city.

OR
(a) A company purchases a machine on 1-1-2005 for Rs. 200000. (7)
The expected life of machine is 12 years. When a new machine
will have to purchased, it would cost double the price at present.
" §n order o purchase a new machine what amount. shiculd be invested
on 31+t December every year for 12 years at 15% of interest?

" (b) A man takes a loan of Rs. ,40 000 at the rate of 12% smple (8)
interest with the agreement that he will repay it with interest
in10 equal annual instalments. How much his yearly instalment.
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Que.1
(a)) Rauaset slug uix [Repdl e, (5)
(b)) Aot AHls200ell B3 120U Bl &l Al (5)
IxX+4y =3 ; Ix+6y=6
(¢} A A=£0,2}, B={ 0,3} ud C={0,3,4 } wia & rn ‘ (5)
1.AUB 2.AnB 3.AXB lad.
el
(a) As Getaaet Udld AU : (5)
dstdl oL, WARs awl, Y28 oLyl
~ (b) A U={1,2,3,4,5,6,7,8,9,10}, A= { 1, 3468}01518-{2 3,6,7,8} (5)
AUNA QA l usi (A N By=A’UB’. .
(¢ ) o0 Rett lls2ael G3el Qi{e&l Rau ol Aaa (5)
3x+4y=6xy,5y+2x=5);y - '
Que.2
(a) A5 Gelget Udlct AuHAA : znw ’elﬂs Asu Aldls. mél Uil AR5 (5)
(b) 2k @5 ofl uee &l Aol wﬂseﬂeﬂ Gic Aol . (5)
5x-12y=—4 ; ~x 6y #1=0
(c) R A= [-5-4 21] ud B=[P 2 1] Qud 2a-38 wA AxB Aad. (5)
_ uUel
2 3 ~1 -
(a) =t A=[:i 25 13 gl dl A ol caleet ABls Ad, (5)
O R A3 1] Bt A sl 535, A (adjA) = 14] ke %l 2x2A (5)
dsu AQs B. page-]
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(@A A=} 2] fa AAz-5A~21 Qw1 2x2 A Asn AQs D.

3 4

Que.3

(a) cat ot cayvan il Aol 2] @),
(b) llAall ofl B A : 2R A &

. 2241 . 22+x-6 . 3 ~2
I8 mew 2WM g 3 Mm T
Y
= oAl ofl B Az 2R A 2wl
. 8x%-2x-1 ‘ . 1 2
R 2wl - agd
2
. 1 . x5.243
- I v 4l o
Que.4

(a) AMnll: AE el , Al caly wa RodloL §s

(b) Uit ol of 8% otl €2 50000 3R ol ULEL el UN 283 ofl dRLAd] 53\,

() Ws 2432 ofl slet ol crcll 76162 B, wiu o UG A wd? ol cadl
65673 acll. w22 ofl clecllatalA £2 AL

Ul
(a) A fuoll 1-1-2005 ol A 3. 200000 M As 2Ax WAL B.2loe] vlel2y

YR 12 dYl of B, W og A Wiledlo] A AU sletoll 2ot ol Bud sodi

ol (Bt ygoicll usd. oiq 2iat wdlgatot ddell €2 a¥ 31 QAR ot
A% decll 81 15% cat® 12 oid W2 yscll A ?

(b) s AG 1,40,000 3R ol 12% UEL AR ot A B U 5AR 52 B ¥
o calier WA £ Wllot ctllys gl Ysapll 528 A Aol calils 1 e 632

(5)

(5)
(10)

(15)

(5)
(5)
(5)

7)

(8)
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